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BASED ON N.C.E.R.T PATTERN 

                           REVISION   (  SUBTRACTION) 

WORDS PROBLEMS  ON SUBTRACTION.  

EXAMPLE   :   A  shopkeeper had 72 packets of  

                      Chips . Out of these, he had sold 51 

               Packets .  How many packets are Left with  

                Him  ? 

Solution : Number of packets of Chips the 

shopkeeper  had = 72 

Number of packets the shopkeeper sold = 51 

Number of packets left with him =     7         2 

-   5         1 

   2         1 

• solve page 126 and 127 . 

• REVISE page 48 , ( ones and Tens ) 
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